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int _ cdecl main(int argc, const char **argv, const char **envp)
{
int v3; // eax
unsigned int v5; // [esp+18h] [ebp-90h]
unsigned int v6; // [esp+1Ch] [ebp-8Ch]
int v7; // [esp+20h] [ebp-88h]
unsigned int j; // [esp+24h] [ebp-84h]
int v9; // [esp+28h] [ebp-80h]
unsigned int 1i; // [esp+2Ch] [ebp-7Ch]
unsigned int k; // [esp+30h] [ebp-78h]
unsigned int 1; // [esp+34h] [ebp-74nh]
char v13[100]; // [esp+38h] [ebp-70h]
unsigned int v14; // [esp+9Ch] [ebp-Ch]

v1l4 =  readgsdword(0x14u);
setvbuf(stdin, 0, 2, 0);
setvbuf(stdout, 0, 2, 0);
vl = 0;
pUtS ( s s sfe ke e skokeook skeoskock sk ok sk R kR sk skokock koskok sk sk Rk sk sk ckock sk sk ko sk sk kock sk sk ck ok sk sk ok sk sk ck ok sk sk sk ok sk 1 ) ;
puts("* An easy calc R B
puts("*Give me your numbers and I will return to you an average *");
puts("*(0 <= x < 256) M)
pUtS ( Wk skl sk kckk sk sk sk sk sk sk sk sk e sk ok sk sk ke sk s s sl sk sk sk sk b sk sk sk sk e ke sl ke sk ke ke s s sl sl s s ke ke ke e s e s ! ) ;
puts("How many numbers you have:");

is0c99 scanf("%d", &v5);
puts("lee me your numbers");
for ( 1 =0; 1 < v5 & (signed int)i <= 99; ++i )
{

__1s50c99_scanf("%d", &v7);

v13[i] =
}
for ( j = v5; ; printf("average is %.21f\n", (double)((Llong double)vd / (double)j)) )
{
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text:080488E0

text:080488E0 loc_80488E0: ; CODE XREF: main+1FFt]j
text:080488E0 ; main+21Et]
text:080488E0 nop

text:080488E1

text:080488E1 loc_80488E1: ; CODE XREF: main+1CCt]j
text:080488E1 ; main+281tj ...
text:080488E1 jmp loc_80486FA

EeXTi080488ED ; - - - - - - - oo oo
text:080488E6L

text:080488E6 loc_80488E6: ; CODE XREF: main+30Et]
text:080488E6 call ___stack_chk_fail

Xt :O80488EB ; - - - - oo oo oo
text:080488EB

text:080488EB loc_B80488EB: ; CODE XREF: main+30Ct]j
text:080488EB mov ecx, [ebp+var_4]

text:080488EE leave

text:080488EF

text:080488F2 retn

text:080488F2 ; } // starts at 80485D0

text:080488F2 main endp

text:080488F2
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